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FRCS Ophthalmology Part 2 — Sample Multiple-Choice Questions

Sample MCQ - Single Best Answer questions:

1. In a patient with type 2 diabetes mellitus, diabetic macula oedema has been observed.

What is the major risk factor for the progression of maculopathy?

A. Anaemia

B. Hypercholesterolaemia
C. Hypertension

D. Obesity

E. Smoking

Correct Answer: C

2. A patient with no pre-existing astigmatism is noted to have +4.00 diopters of astigmatism
at 180 degrees 4 weeks following a straightforward suture free cataract surgery.

What does this indicate?

Loose suture placed at 180 degrees
Superiorly placed corneal incision
Superiorly placed scleral tunnel vision
Temporally placed corneal incision
Tight suture placed at 90 degrees
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Correct Answer: B



